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RUCTIONS TO CANDIDATES

Read the Ieflowing instructions carefully before you
angwer lhe guestions. Answers should be marked in
the OMR Answar Shaat uaing black ball poini per.

INST

1. This bookist consists of 100 guestions for four
sufects with 25 guestions in asch subjec)
1-25 Mathematics
20-50 Sclonoe
51 =75 Socisl Science
Te=100  Mental Abifity Test

L Eachqueston cames one mark.

2 Since the lme alloted o the Question Paper & very
limited, you should mitka the best use of K by not
snanding (oo much lime on any guesiion.

4. Il you do not know the answer fo any question, do
nal spand much fime on & and pass on to the: next
or@. If lime parmits, try the questions which you
have el in tha firel insfance.

§. Blank pages are proviced for rough work at the and of
the Oussation Soakdal.

6. Chooae the comaotanswar from e oplions given lor

asch quastion and derken the comespanding circle
with blagk ball point pan in tha OMR Answer Shasl.

7. Hanoover the OMA Answer Sheel to the Invigilatar
and the candidniss ane allowed to taka the Cuestion
Boardat with theim,

‘e anerd maamors)
LgsE e ame s@ly Fp ew Sarewe
usgaan Jusmraiarea; OMR afes_ g8 refla)
w

ﬁjui ehlarmEQpre i gaillens ur g8imsh

g, priew Lin_Sisgndes Coiig
Gh.nu;m 100 eflarm & i Gaam|) amatg;

1-25 saxefmn
26 =50 e
$1-75  supa sufieiuse
TE=100  wergdimen Gpiey

2. gelangs dilemned i g oD opEs
Sininn (G,

A, colenrSmina fgsa O Capb s
el sy B O gl o i e efflanradl s
pflsnnan G das Ssaifids Counno

4, gl erdips die. @sfusaliie rd,
azfers ads Qargeg Ceadlung, MEks
stlearn el fig allevuwefidsah. Gorid Sau (il
cilBue. Samahife ol oofbs g bfidangh

5. wiipepsd Gelmuriis Qapgigrisd
|Blank pages) ailamgierguda Fofdd
b e S

B. pellames shlommellh e Qamibe' ' (baer ety
Elan_avfidilpba Bek sflure e Smes
sarcfifg Ssimp OMR Sal ggrafd o fiu
L gdla smoy fp en Gerere O
tpwar CGuamillerd f Capr@i

7. OlA ol Serafiaes s s sl crgfl_g
guuw_ &g, e sisnslEmae errrais
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MATHEMATICS / senflsib

1. The sum of the digis of the dencminator in

thempmm«%a

i & @ 5

'.r @ 4

@ 1

@ -1 @ -3

3, Statement (i) :

The cube of every odd number {5 even
number,

Statement (il) :

If & motural number ends with the digit 3 or
7. its cube ends with the digit 7 or 3

respoctiviedy,

(1) Both the Statements are frue.

{2)  Statement (i} w true and () is false,
@ Statement (1) Is false and (i) is true.

(4)  Both the Statements arc falss.

4. Which of the following fs trus ?

=1

=

(2 '«

B (35) 7 o _

(1) F+3=3

.'.31”:':',3'] 1
\a)  \a2

IX-24 3

1.

% -Elan edflu agdd oda
cegSlulicn Blassh soflar s Had
1y & 2 5
- (4} 4
PG
E'[z 3)
3

5 2 1

2
@ - 9 =3
samipy () ¢

garSaurt ghaplive.  earafis
SENOTEE E0 LR TR D,
R

P Buwd raramang 3 mdwg 7o E@d
(pighErd, Sghde Senoremgy wapGu
7 mdiogy -G apauyb

(1 ey sabpusgmib s

) sapm @) #F pmd () sap.

() smdgy i) geum winge (1) s,

(4) Qe seppisEnbd Hag

Sereumasarauhpe agy & 7

() 3+3=3 @ $'x3=
_1 .-1-“r 1 =1

@ -2 w (3] =[]
PTO.
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8. The perimeter of the given fgure is

L em
5cm
1y 3em 8 @ a5 cm
(3} 40 em (4 Sem

The area of the shaded region of the given
clrele with centre "0 and radius "a" undts is
sq, units.

mal '
mE @
2
el
V2

L

]

N

7. MNumber of adged, faces anid vertices in a
trisngular pyramid are

respectively,
@ t, 4, 4 @ #5535
{1 965 ) 44,6

$. Thearc length of the sector whiose area is
154 cm® and its radius 11 cm is ;

(1} 7.cm 2 44 om
28 em W 3om

IX-24
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(1) 30 Gaab, (21 35 Gsal
@) 00l | (4 350Gl

O - Epad ERDILILOTERD ‘o" JEEE TP
deran. Garféalul. wligda
Fudl ouce usfdd uFluersy

g BiEmas,
'ITH.l ﬂi:
m 5 &
1!|'H2 l'rﬂ:
o i
w0 paGararl Qyled saopgdn

eflefibijadr, gpemissT wdmib o sfsaflenr
ararentidana apanpidu .

(1) 644 @] K55

(3) 965 (4 4,46

11 @58 srppde awl ECsmand
umBuden Lrtioeare) 154 Ge R eratilds,
sitdbalien Bemb -

{1y 77asid {2} 44Qs8

(@) 28 G@sl () 32@s.8
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9. W(a+b)=3 and ab=5 thena'+b is:

@ -18 @ 18
@ 722 ) -7
10, B 52 px428=(x—4)(x—7), then the value
ol pis:
1y =3 o -1
B3) 3 @ 11

Thi smallest nomber of thie thres consscutive
numbers is (1 2), then the greatest number
in:

(1) (142
) (x=1)

) (x+])
@ '

12, The straight lne y=35r always passes
throuph

(1) (0.5

2 50
@ o ™ 65
13. The cube moot of 6 Fibonaco number is :
(1 8 @ 6
@ 2 W 4
14, In a triangle ABC, ZB=9%0°, then the
Orthocentre of AABC lies on
M A
@) ®
@ C
#  Hypotenuse
iX-24

3.
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(a+b)=3 wpmib ab=5srafld, a’+ b=

(1) =18 (2) 18
@) 7 W =72

- pr+B=(r—4)(r—7) eefils, p -an
wlly
a) —3 @ =1
P 3 @ n

m ppangy eramsails lasddhu
e (2-2) erafld, Blel@ufu erer

— ambd
(1 (x+2) 2 (=+1)
3) [==1) ) =

y=5z e GpdaCGarrang lGungh
wijfunss Cledgh.

(2) (5.0
4) (5.5

m 05
3 (0.0

snragy GuGam# srareflan seapplh -
1y 8 @ 6
m 2 @ 4

AABC @ LB=90" aafld, AABC -&
QetuGamn_) enwwih ki SEpwwb 7

(1 A

@ ®B

¥ C

) stanpfan Sg
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15. AABC — APOR in which 2A=63" and

ZB=57 them £ is:
) s @ o
® 1ar ) 90

16. Which of the lollowing are co-prime

numbers 7
(1) (8 10y (2) (B, 12)
jﬁl) . 15) (4) (4 1)

17. Il two angles are both congruent and
supplementary, then they are

(1} scube anghes
@ right angles

(3) obtuss angles

(4) all of the above

The lieast tims trkcen rowte from A to E s

@ AsBSC=E

M A=B=D<=E
(A A=BaC-D=E
4] A=-B-D—C=+E

1X-24
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15. AABC - m&-&w #B =57
wrales, LR e

(1) s0° @
(3 1207 4)

#. r

16, A aimaeapned ama st i.ime

sramtEe 7
(8 10 @ (813
# (& 15 (4 {08

17. @m Carariisd stamoprsad, e
flrudlsamraat Beodds moa
S— T

(1) @praGarammhiss
(2)  GEiGCsrawhisd
(3) HMGEramisma
(4 Cpaafiv smadso

'I.!

A~ mhg E-6@ WFow Gaphe
ey Gprges srhgss G @

] A=B=C=E
@ A=B=D=E
B A=BaC2DE
4 AS4BaDCoHE
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19. Maich :
{a) Centroid ) Angle bisectors
(b} Orthocentre (i) Medians
1
(e} Incentre {is) Perpendicular

isectors

(4) Circumecentre  (fv) Altitudes

(1) ()i, {b)-{ii) ()Givi (i)
() (). (b}iv). (e, (i)
(B) (i, (-G, (e (i
(4] (g Dojeg, (ci(0. (di-fiv)

‘ 20. In how many ways ¢an you answer | 20,

ABCandD?
(1 8 @ 16
@)y 22 4) 54

21. Fa% of 2=49 then 1 is
{1y &0 (2) S0

@ 70 () 80

22, A person bought 8 articles for € 1,000 and
sold each of them at T 120. Then his loss

percentape is
1 10% @ 5%
@) 45 H) 15%
X-24 7
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. GurmsEs
(@) pO&GsTH () Carewr Ghmaio
et daulgsa
(b) GemGsD @ pO&
b bR
) savsuli (i) @snwis
o mEEE
Canlpsar
) spoeC fiv) Glemmims
T e

15 e, (b)), (e)-fmv), (d(i)
(20 (o), (B)-v) (c)-qi), (e)-)
(3 (al{H), (b)), ()6, (d)-{)
@) (el (b)), -0, (d)-(iv)

Gran® uvasEr gfla Barssafie
A B C uppe D Apflay s dlmbs
sgilwrar dle.@ug CsiplsBes

ergaven cligworan anflsed o drarer 7
1) & (2} 16
P 52 (4 o4

- x-a o sy 49 aafld, @ endrgy

(1) 60
@ 7o

(Z)y 50
(#) B0

gomar § Qurmsmar T 1,000-6@
artufl, gaGarnm Qurmaesuyn
T 120-4 oEplprt Feild, el

Sl bg S sgedp
{1y 10% 2 %
@ 4% 4) 15%

BTO.
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23, Anand can do one-third of a work in 8 days. | 23, ehs GO ERTE T ﬂlpwﬁm ﬁ-@
h uEHew & prisaid apelurt e,

He can do -} of the same work in L
i sbs Camadld 7 ugHeow

davs.

- o pelseild gpamiiom
() 24 @ 32 ay 24 2y 32
(37) 18 (4) 16 (3 18 (4) 16

24, The range of first 10 composite numbers is | 24. apse 10 us carsefar  LiE

|

mn 17 2) 16 {y 17 (2} 16

(3 9 @ 14 3 9 & 14

25, Monthlv expenditure of Sudaroli’s family is | 25. suGpraflier rse mEbus deasy

given in a ple-chart If he spends ¥ 12000 aulL sEeTRSL ULEHS QsnHaal
for education, then the total salary of Sudaroli ul ez, st sddldsrs T 12.000
is = Gamey Gsdgre, seafie Gorss
B LT G A
i
i R
Food
5% it 1
Eaﬂln i wdueld ar_Ea
5 @ar 1% Gaifliy
i 10% Sawvings Craiisdr
Mseeiianeous
(1) ¥ 80,000 (2 € 75,000 (1) 2 80,000 {3 ¥ 75000
{3y T 0,000 (4)7) T 80,000 (¥ ¥ 50,000 (4) T 60000
X-24 8
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'SCIENCE / synflefluied
26.  Which of the following temperstures indicate | 26, Sipksdm_ Qauliufeasdld & dingnss
thiat you have fever ? srlssd odary a@ump &fluns
eicdhagy g °
{1 100C @‘Im (1) 100°C () 100°F
@ WK (#) Al the above 3) K ¢3) Sew soasp

27. Which of the following liguids has more | 27, Ep&srgpid Srads@ma op s

viscosity 7 ungilene manlwugy ?
@ Grease i
(2) Water 2 f#
(3)  Coconat oil @) Cplsrl erdntami
(4) Ghee ) Qs
28. Kaleidoscope works on the principle of | 28, seeLmauGst) __ sigeddn
. i LU ifld CouduBang.

) gpogisres aglGrrafi

2} guyispp aBQrmefioy

() el alilome

4)  gefllen Lsngps edGgTailiy

29. Energy required to maise the temperature of | 29, Bflér Qaou@aasu 1| K s wufis

water in a trough 1o 1 K is 1000 JK— L 1000 JK=) Gausdiih CpavaiufGlpy.
Caleulate the amount of energy required to Sger Qaiufleaau 10 K swigs
raise its temperature by 10K : Cpevauimran Geulin s hpd
(1) 1007 @ w1 (1) 100 @ )
M 1K @ 10 k) 14 @ 10k

IX-24 g RT.0.
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30.  You are nubbing a glass rod with silk and

your friend is rubbing an ebonite rod with
fur. When vou bring those rods nearer, whl
will happen ?

(1) repel

@ attract

(3]  somebmes attract and somotimes T

(4)  neither attract nor repel

31. Asound hes a frequency of 10 He and a

wavelsngth of 7 m. What is the speed of the
sound ?

1) 700 ms1
@ 70 ms—!
(3) TOx10"2ms—?
(4) TOx10-2ms-?

32. When gold is suspended in an external
magnetc field, it will ;

@ align perpendicular to the ditection of
thie Hield
i2)

align paralle] t the direction of the Geld

3)
{4)

does not respand to the feld

gets magnetized in thie direction of the
fiald

IX-24
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30, G sararme & e L Digefiumd
Causdinmi. eogy pavuear eurmen
g@wa. sbusiurd Culdfmrd.
el sarGsamayh simsmts
Aamdn(l eumbGUTE e faggd 7

1) dlasoayb

() rhbgD

) HaCprusefia mrégd Ho
Cprisafis aflaswmouyb

) mrasCGar, deswocuGsr
AN

g Gl 10 CGapid v sfiraeusn wimpn
7 8 swafoh QsrdnPaamp. s
peilllen Geusib sremen 7

(3]
2
&)]

)

0 s
70 ms !
Tx10" 7 mz !
MOx10-2 meg—!

3. pRIEEaE Syren

AgmizsallRn Curg

uugflan dmske Qsusdara
An@ib

yugflan Aardim Qommurs
Bl

yabard urBssiuong

SR L e el
srhsrEmns)

arpmyasda
(1
(2

3

(4] Hamsuiicy
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3% The aim of launching Chandrayaan - 2 wis | 33, spSgnwes-2  Ewochian

1o explore the pole of the Moon. goal uvgdeu iy Gslaag
Cprisoras Dareri g
(1) North {2 south M andw @ Cabe
(3) East ) West M Apss () Cobg
34. Find the incorrect pair. M. gaprer Baereud sanHsse b
(1) Water - Hydrogen Oxygen M B - oan_ g,
g
(2) Nitric acid - Hydrogen, Nitrogen, @ eoplila - eanlpgen
Oxygen aiblan LT,
. Tad o
(4)  Aceticacid - Carbon, Hydrogen, M) sfled - mmirLie.
(Vinegar) Unygen sflaib ORI e,
(ablaaflmit) g bFlgen

35, Which one of the following contains a high | 35, ddamaeimappd uaeuy Sopam

level of polyunsaturated fatty acid 7 Qanggiy mllob aaupiia s8sb
b o5
(1)) Fishes and meat (1) (Bémser wipith Banas
(@) Eggand milk 2)  elaL whmb L
(3)  Vegetbes and fruits @) arisfied ofgb Ughisd
(4)  Cereals and pulses (4 grafhossd oHgn LU
IX-24 1 PTO.
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36. Complets the following equation

39,

1X-24

ml & &H;CF Enerigy from the sun

< + 60,
(1 CalOy (@) GHuO
(% CHOH (4) CHy-0-CHjy

An atom has T electrons in i outermost orbit.
For obtaining stable eloctromic condiguration,
it has o .

@ gain ome electron
(2} lowe ane electron
(3 neither lose nor gain dlectron

(4) Mone ol the above

Usha had heavy dinner and she felt
arvomforiable. So her prandps advised her
i drink a small amount of Oma water, 1f
shis drinks Oma water what will happen ?

(E_ij) Digestion will be faster.

(2 Drigestion will slow down

() leritation will be there in stomach.
i) Nothing will happen.

Which of the following chemical can be
applied for wasp bite ?

(1) sodmm hydroade

(2) sxlium acetate

@ eorr

4) potasstum hydroside

12

www.TrbTnpsc.com

Bpaadn swerun s Sapayd Cels.
600, + 6H0
_sfualdiogy Oupiuo gias
e,
1) CpHzlyy 2)

ghEsD bednrg
4 Guopsdu ggblda

o.eg eremueult {rey AppengdaCung
S E0TET R by 314
Gsran.grid wGswsfiuors et

ST BRUTE STHEST Saeng Afisemay @u
far umss GlamaranTy. eur guBeoy

ugslenmds erener Hangn ?

(1) Gsflormmb gfsluBssiuiib

(2) Gsflora grogllLBEsUUBL
(3) @erleuda srflgssh ahuBn
4 gapo Bsry

. woredl Gariwenra Spsav T

GeuSlOCummenen vwerLREsfGpmD 7
(1) Gomguid eogmgTTEms

2) Gemgund HfCCLL

(M dleflar

4 Gl rfluh @aniyTEasf
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40, Maich the following :
fa) Ligmnito (i} 45 - 86% carbon
ib) Sub-bituminous (i) 86 - 97% carban

() Bituminous (i) 25 - 35% carbon
(d) Arthracite ) 35 - 4% carbon

(1) b, (o)), (e, (-0)
@) a4}, ()00, (0)-tiv), (d)-Gi)
@) (a0, ), -G, ()i
) (al-fav), (b)), (<G (-0

41,  The future fuel which has the highest energy

and does not pollute air is
(1) Coal gas

(2)  Methane gas.

o Py

(&) Hydrogen gas

42.. Which of the following disease is not caused

bv fungus 7

(1) Dandruff

(2) Ringworm

(i) Athlete's foot
([4)) Tuberculosis

4. b

@ Vﬂlmﬂﬂmﬂh:mﬂymm

pressurne decreases

(2)  Volwme of thoracie cavity deicreases and

pressiice increases

31 Both volume and pressure of thoracic

cavity incrosses

[ Bath volume and pressore of thoracic

cavity decroases

1X-24

40

(o) diEavam’ {i)
(b} gaowen

(€ ACHllars
(d) ppprens’

41.

www.TrbTnpsc.com

Qummigs.
: 45 - B6% GrirueT
_ () 86 - 7% e
9§ Bansis
() 25 - 35% smhuds
(iv) 35 - 4% mmivd

(1) (al-fut, (b)-(iv), ()63 ()-(i0)
@) (a)-{i), (b}-) fe)-{iv). (d)-{3H)
(3) a0 (bt ()i, ()~}
(4)  (a)iv), (b)), (i (d)-(3)

STDED WTSUUBHETE MES Gy bees
prsudes afisme sl Gunmer -

(1) &nices aumy

@ BGsar aumy

@3)  epusd amy

i4) engDLTHEn ey

4Gy QarfHaal Ul e aif g
yaheEsard giuLns Cemd g 7

(1) Qurfis

(2) ememal Lophsdr

(3 sré urgsdd Grmu

(4) =rs Cpml

e dnseursg S Cung

(1) wriuenpEer QararTerars
Sflafigs Supds @b

@) ; Bt Cludracs ’
siphsib sflsfaes
Lo L en iy U el GETdTaTeTayD
sugsaps s@afslng

(4)  wmiyeop o dn Qandrarara)b

Spspd sandpg
PTO.
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is m natarnl bio-indicator of
climate change and air pellution effiacs.

(1) Aiga

@ Lishen

7.

@

1x-24

)
{4)

Hryophytes
Bacteria

Pick the odd one out :

@ Dl

12) Purple frog

(3 Indian giant squirmel
(4} Snow leopard

Hactierin are grouped under the Kingdom of

Moneta

Fungi

{1) (2} Protista

4 Alg

Asnertion ;

Vaccines are prepared from the dead or
weakened microbes.

Reasan :
When the vaccine s injocted inlo the body of
a patient, the body produces antibiotics,

Assertion is correct bul Reasen is
Wrong.

Assertion and Reason are wrong.
Assertion 18 correct and Weason
explains Assertion.

Asvertion is wrang bul Reason is
oorTHet.

2
&)

(4)

47.

14

www.TrbTnpsc.com

_ srafieo orhpsSaeh
sihE wrauRadian dimarapmanemiyih
eilerkgsih  @f @Sudes eodf-
& ITELD,

{1} mdmr

(2 oasEE

1) SerGurenui’ e
4 undefiue

Gunmsrs GEans CarpashHasab.
(M GG~

7]  emEn Sevenen

G) @ifu prisg sfia

) uelifpses

alaslur’ g wdild  urEie A urk s
cranng ecisgBan £5 Ph
Qugperanar,

() Gorefigr 2 uGomigsoor
(B) |LEsens (4] e
Samy

shoyfisd Boss Cura sdag
L) oS e S UL i gags ol )
selbimy muTRisiuGRaper
suremnD

Corurdiseflea wode sHoydan
Qogrggntorg s wragy gt
biFdGsradiswe e pusd Gaidpng.
(1) s=ppu #fl. sapesmbd seug

(2)
(3)

SnDDI IDHPID SITETD Heufy
&gl #f, Cuogh srypestibd
apflenar sierégAng

(4) s Aeu, e srgemmd o
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#8.  What happens when you feduce intake of
caloum ?

(3]  muscular growth issue

(4)  anemic

48, is also known as “diarthrosis’

joint,

(21 Slightly movable joint
() Freely movable joint
(@) Synovial joint

48, mmb

www.TrbTnpsc.com

& Fliiih

e srd aens

EepsmbCurg e gpuiin ?

1) ey SunurGrrilay

2

mgrmip

M) peos suaried mepun

(4)

i

Eogs Camans

Peneywren ppl [

e ‘e idk Corélen’ apl®

(2) *pm peTE Mmipw apl
B)  perd muw Wb
) ACerdiud apd §

50. Aally grey ubpsiflar sresd

ey gliEsn 7
@ e e BRI
{2)  deforestation () sn@ endi
(3) afforestation (3) & ey
(4)  reforestation (#) s Saregsriing
X-24 15

SOl gidrar
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SOCIAL SCIENCE / FpS gjﬂlﬁmﬂ
51.  Malch the following : 51. Gurmsgs
() Troeaty of i) The First Anglo (n) wii-er-miGoeh  (§) s
Aix-La-Chapelie Mysore War LTl dena w2 it B B ¢
@t Gurh
(B} Troaty of Paris () The First (b) ey i) aome
Carnatic War LR Y & HTLSL
Curi
{c} Treaty of (i) The Thied o) Wlrisui e (i} mpEEDmb
Srirangapatnam Carnatic War oL dtlgdans sigaLal
{d) Treaty of {lv) The Third () wpridy (iv]  epdmpmb
Madras Anglo Mysore LI (T T o288l Gavu
War ST i
(@) fa0-fi) B3, rivi. (-0 (1) (ap-(E, B)-gil, (c)-iv. (-G
(2)  (al-{i), (Bj(hv), (ch-(a). (u)-giai) 2) (i, (b)), (i), ()i
(3 (v, (D)-GHy, (cH{ii), (d)-4) ) (aj=(ev), o), (c)-(m) (d)-(0)
(4) i), (bI-{i), ()G (d)-(iv) (4) (a0, (D), (o)), (d)-fiv)

52, Which commission recommended free and | 51 @hgs sdclfmg 6- 4 eibmss Ll
compulsory education for-all the Indian Spenengy Qe sptessordsic
children in the & - 14 yenrs of age group 7 Puas vHgh sCLrwEd bl

Lififsgieny Qadisg 7
(1) The Hunter Commission (1) smaEml oamuh
{2) Dr. Radhakrishnan Commission {2) Lr&Lf S o g o) (15 iy ey g
savelilEmg
{3} The Sargent Commission (3 it ain‘mﬂ.tw
@ The Kotharl Commission ) Cangprfl sy@mnub
IX-24 16
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53, Find oul. the wrong, pale |
(1) Rajs Ram Mohan Roy - Sati
(2) Ishwara Chandra Vidya Sagar -
(@) 1D Bt - The Sharda Act
54, The Indigo Revolt was led by whom 7
(1) Mahatma Gandhi
(2) Keshab Chandea Roy

Which amsung the following statements about
Aﬂﬁﬂ'ﬂﬂ.’lﬂ" ane troe 7

i 1t was introstucnd by Military General
Agnew in June 1809,

fii) It resembles o BEwropean hat with a

badge of cross on it

Both Hindu and Muslim soldiers
acvepted it

This wos considerad @ the immediate
cause for the Vellome mevall

i)
(iv)

(1) (i) andl i) only
@) (i ind (i) ooty
@) 1 and fiv) oty
) (B, (i and (v} only

IX-24

www.TrbTnpsc.com

53, GQunspers Geareud s fls

(1) @regrymb Guorssereil - 5

2) mebeuy spdl effursTal - eflFea
LT

i) JED. Slugdn - svar sdiib
) emgLgBoia - gess

‘ m(!ﬂr (o f) @ortsdl Lrgpnd
i eSLbn pLssiul gy 7

(1) wanper arpd
3) Mﬁmwm

4y ﬂml‘ sudieauimits o' S

55, ghefly  sewoures”  uhfio
Mmmm?

0 @5 mod 1509 &b g
Foreme  sauf  sEafig
s s SHpSULBAELILE.

Agwa A@apgoa s
wCrmSu Ssridme SHRmhoS.

s wppd gl dyisd
BE Cagnt soOsSs5EE L atigd
amyesmons by
(1) (1) odigid {u) o Fib
() b (k) wC B
() D i) o FD
(8}, ) \ebiib (iv) WG
PT.O.

{ii)

(iv)

(3
)
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56, Steel was first manulactured by modem
miethods at -
{1) Jatmshed pur (2} Bombay
@ Klti (4) Salem

5%. An important port in the Kingdom of

Golconda was

M
(2)

Masulipattinam

4)  Kalingapattinam

Visakapattinam

Nagapattinam

Assertion ;

Indian handicrafts collapsed under the
colonial pule.

Reason ;

British made India as the producer of raw
materials and markets for their finished
products,

@

(2)

Assertion is correct, Reason is correct
explanation of Assertion

Assertion is correct but Reason = not
the correct explanation of Assertinn
(3 mm'mdﬁmnmma

(4)

Bnﬂlhmﬂmuﬁlnmunmms

18

58,

www.TrbTnpsc.com

wEn @UEBE aa
popurs e wepld e
purfidsio g
WETH] AV

(1
3

grbGas i (2)
@y

(4) Gsanb

CardQarair apfid ks Bl
poppss

() elsraiiud i ans

) predulsems

B wEmdouC g amb

(4} HSTriur.':ul'_q.m.h
spm :

BpPL esdlmerayiad QR _g e fidn
sroafiu yfesidii palagbpeart
ST

uﬂﬁlitqqn'ri* Bifuraa  say
e @i et Surfioureryrsei,
g &4 Qurml s @k srer
Fheguraah smSen

) =bp sfl, srpend sbpisrer

eflarasin

R app =8 Hard mpeps

anpawrih sflors ozl
{3)
(i

Spph srr@wgah oF

SDPe STyenpib seupmenea
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59. Event that occurs due to the fallure of
MOTSO0NS

The process in which the water content in

the plant = released into the stmosphere in
the form of water vapoor i= called

(1) Evaporation
Comdensation

61. Statement (i) :
Sedimentary rocks consists of many Jayers.

Statement (ii) :

Sedimentary rocks are formed by the

sediments deposited at different points of

b
Statements (i) and (i) are correct and

(2} Statements (i) and ({i) are correct bul,
Statement (ii) does not explain
Statement (I).

() Statement (i) is correct
Statement (if) is incorrect
(4) Statement (ii) is correct  but,

Statement (i) 15 inoorrect.

but,

18

www.TrbTnpsc.com

59. ugauap Gumiildée srrerwnrs
— giuBdpy.
(1) el smmEaD
@ wpcH
@ apdlongd
) weiunflsy

60. grauglsdd cda i gllwurd
euafl o ws S @ dedgiib

(1) B melungd
(2) B sohmsd
3} BF ol sfify Qaefulfed
(4} wﬂﬁutﬁm

B1.

s=pp (i) :

L g, ) 1 LT R0 S AT
~siRdmuenard (o sma.
s (i) :

Ll Lranmas LGy sramisatic
TG e

L Gaugy

(1) sbgy (i), spay (i) &7 whgd spas
() s =pgp () &5
effulmen eflatdmb.

(] ath [i‘,l app (i) sf mgord
s (1) g spm () &5
sfliimim ey i yde.

3) ®smpm () s sgparrd ;mpp (i)
Ham

M) spp (#) of mend spp (i)
seum

PTO.
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6.
(&)

()

]

Match the fullowing

Judidal seemr () Non-
Geographical
firtir

TV Telocasts (i) Raw materials

CGeogruphical () Cuaternary

factor activity

Capital (v} Quinary
nctivity

(1) (ale(a), Mg (clefiid), (e)-Giv)

(@ a)d), (b)), (e)-fiv), (d)-)

(3 (a3fiv), (b)-GiD, ()i, (di-(x)

(@) 1. g, (-0, (-0

63 Which Continent is known as “Continent of
Scierce™ T
(1) Nerth America
@ Antarctiva
(3) Europe
{4) Australia
6. From the fullowing find out the incorrect pair :
(1) Isotherm - Equal temperature
@ tsobel Equal atmospheric
eSS
@] [Isohyels - Equal amount of
ralnfall
(4) Tsocryme - Eguel lowest mean
temperature for a
specified period
IX-24

www.TrbTnpsc.com
62, Cunmigs
(CH 7507 T i el
b
T AT T
b Garewmasm £ (H) peso
gty Gumml s
(o) e (i) pranssh P
e maT (E TN
{d) momsand ) mpank Heoa
QFis (i
M (@D MR, (- (d-iv)
2) (i), (b)-(i), (o)l (i)
) dapav) (be={i, (e (-6
(4) (i) (b)), (cp-Gl. (43}
63 =3l sl samiih' W
Ssa@pssiubn sarib sg ¥
) e sGuwfiEsr
(@) wEFLTieaT
(% mGyroun
4) ehdGredlon
ol Apksar_apmer paupies Beaanemud
Hemi_(fla
(1) glemlghe - 50 Qaous
Camp
(2) pCarlad - B ATHDUOEDS
Cas(y
() glsranmpieiy - S0 DEDLMGE
Car(ip
(4) mlsmdagd - gmEHR0G
snwgen srmefl
#lo Glasdiny
Blenesd GarH
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65, The maps which are known as plans as© | 65, Garrarad cdp  sogssoudib
LU s Py

(1) sromineiil i kiss

@ poducshad

B) a0 wEmadGan GO L ks

@ Curigaosgs uLisdr

() aflo
syl Sy
{b) mﬂﬂi () Lepisan
AouppEmisL e fusd sfley
n;ﬂn{nﬁ

() @i MUrLsr (i) ey
& s

() Qe iQuimgme’ scr () @ummen

(1) i), (-0 ()-Giv), ()-4i)
(2) (i), OyLEiil, ()G, (ei-iv)

b 116)-[&1; (G} ()= (Py=(). (el-(iv), (d)-(iit)

(8)  {ak-rv). (-G M. (a0 () (i), i), (-G, (i)
67. Service oriented sectoris 67. Cravan Cpmdaild e geop -

{1} Private Sector (1) seflurt g

(2) loint Sector () &Lff gep
- . Puiblic Sector (M Ourgs geop
) Coapentive Sector (4) & GHgas g
IX-24 21 PTO.
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(5.

69,

7L

IX-24

Pick the odd one oot

Recent forms of money transactions are

(1) Credit cand
@ Bairber system
() Debit cand
{4y Ownlive banking

Statement (i} :

Savings are made to fulfill short term or

urgent roquirements

Statement (i) :

Liguidity i high in investments.

(1)  Statements (i) and (i) are troe
Statement (i} is true but (1) is fabse

(3] Stalement (i) i5 false but (i) is rue

(4) Stmtements (i) and {ii) are ialse

An examphe for the joint sector companies
i

(1) Trrigation projects in India

{2) The Reserve Bank of India
(3 Air India
@ Indian Synthetic Rubber Limited

Who promoted mixed sconomic system 7

(1) Mahatma Gandhi
(2} Rajerwdea Prasad
(3] Dr. Radhakrishnan

favwahartal Nehru

www.TrbTnpsc.com

68, Qurmpang auropd GeihEaHasa)s.

uflwrhosfipe vensfa sdugflo
Sl gt

(1) S S

(2) Mﬂl qpeog

(3) upg =l

@ fisp few add

L

Gellly spls sre sdog
sang (i) :

el @ fiwmo g Slso

(1) safpn () wipgeh @@ =8

(@) wmrﬂmm’-u

(3) ﬁ-ﬁ@lmﬂﬂlw’ﬁiﬁ

(4)  s=mmi ) wipd §) sam

a4 gop fpaensmas @b

TG

(1) @Bpfurdlgeas proursas
AL sk

2 @i Refrdo aunisdl

@ of @i

) @pdud Cewipens Towk Hpesen

. sy Gurmangeydas Sgafigs il

o 7
(1)  wangor sephb
@ Brelmady Gvend

@ Lokt Gresriimsend

(1) mapptans G
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ﬁnﬁctwhichpmhchﬂm:hﬂdm'ﬁﬂm
sexual offences is
{I) Right to Education Act 2000
(3] The Child Labour Act 1985
(4)  The Juvenile fustice Act 2000

Pick the odd one but :

V
@

Which foree s guarding  sensitive
povernmantal mildings, the Delhi Metro and
Alrport 7 !
(1) Central Reserve Police Force (CRPF)

@ Central Industrial Security Foroe (CISF)

%) Spesial Service Bureau (558)
(4} Special Frontier Farce (SFF)

{1 Give way,

12)

®

4

No entry,

Right hamrpin bend.

Speed Limit.

The Chief Justice of Hligh Court is appointed
by ;

(1)  The Chief Minister

{3} The Governor

@ The President

IX-24

72

7L

75.

www.TrbTnpsc.com

_"".“'ﬂ'_”& @ ms o ol mis
Bgpegsma urgisrdsib L ;

1) sl e fenws a1y b 2000

@)  Gur&Gsr s b 2012

3) Sehes Geniameni s b 1986
{4) SApmi RHE s b 2000

Qursbsns garend CarpasBasei.
M | \/ e i

@
A

TS LTSS el ok s

SLLL s, Gdd QulGrr whmib

ehloren Benewiges Lrgarkdng 7

(1) S feid sradh el (CRPF)

2} wiSu Cgmfes Lngsmoul uesL
(CI5F)

3 Fplny Geenar Leaflusb (S58)

() Aply mhewdyp v (SFF)

(2) Clsdbw ol fidmea

3) gy Sarara . cardl sucmemay

4

Gauss &1 HULN[H memay

Bliuisah
(1) opseanssd

@ Hego widd
() Slept

{)  mgugsd geocat

s ffludp gaemn AU

PT.O.
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MENTAL ABILITY TEST / wengdlmsin Caitey

Irection (. No. 76, 77) afigpeny : (&fl. e, 76, 77)
Find the next sumber in the following series. Aénmmd Qgrirscld wBisy aumbd
TET@ans e fls
7h, 59 16 31,60, 2 76. 5,9, 16,3160, 7
@) e @ 18 (M 119 @ 118
3 132 4 13 3 132 (4 131
TFh AT &7 1 T 21782087, 3
(1y 575 @ 325 (1) 575 () 525
@ #26 (@) 730 (3) 626 @) 730
Direction Q. No. 75, 79 awiflopenp : (efl. eraiw. 78, 79)

Find the missing rumber/term in the following. | A@UC L warfapppnss senich.

78, 6 | an| 2 78. | 6 | 40
9 |65 4 9 | 65| 4
7 | sl ? )
(1 8 @ 8 1y 8 2y 9
10 4y 7 @ 10 M 7
79, EXL GVN, ITP, KRR, _2 79. EXL GVN.ITP. KRR, 7_
(1) MIT @ MFT 1) MTT @ MPT
(3 NPT {4) NST (3 NPT {4) NST
1X-24 24
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Direction (Q. No. 80, §1) afippay : (efl. eram. 80, 81)
Find the odd ane enit. Cagyuics  gdranph sdin fis
80. 9,11, 13, 19 26, 36, 50 80, 9, 11 14, 19, 26, 36, 50
1 50 :_@:m (1) 50 @ 36
@3 1t 4 9 @ 1 4) @
8. X W.U,RN,JC 1. XWURNILC
() k m N 1) R @ N
@l I # < » 1 @ <
f I

82 If the time in a clock is 205 pm., then after | 82, systrhdle Copd EoCurgy 205 pm
20 howrs 55 minutes, the hous hand of the araflds 20 inenfl 55 Bl disdr s fss

clock poinis towards which mumber sustrpd B @i s weraon
@ 11 3 B M n (2 8
B 12 4 1 A 12 (4) 10

83, Identify the relationship of the given pairand | 83. wsé Qravd aar | TUHY s

ARulL aaw | spians sarl
Hussayb,
CS4RVESSQ . GRL: 2 CSIR-ERSQ . GRL: 7
1 172K @/ 199K 1 17K 2 199K
3) 7800 4y oM 3 8ol (4) T120M
IX-24 25 RT.0.
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B7.

In u certain code language, “125° means "o
to school™, “146° means “study in school”,
“135° mweans “run to school” and "8341° means
*di run-in school”,  What is the code for
“study” in that language ?

2y 2
@ 1

1y 6
(3 3

In & certain code, CAN =36 and BED=22
then CUT= e

@

@) 22

(1 44

@ 66

A is brother of B and C is sister of D and B in
son of C. How is C related to A ?

{1) Father

®

()
{4

Nephew
Niece

i + means —, — means ¥, X means + and

4+ means +, then 18xZ+7+d=5=

(1 19 20

o) 22

(2)

4) 24

IX-24

AT,

www.TrbTnpsc.com

g rafu EHdLE pepda 125
eranLiang “go to school” erareyl, "146'
sremueg “study in school”, srarath 135°
eranLian® “run to school” eremeyl wWHDD
"$341° sremeng “do run in school” erenayh
EHEsTd, “study” sraugds sPUG

(1) & 2 2

M 3 % 1

o raflu S5 qperpids CAN =26
ewapb BED =22 eranayb @i CUT
vaugam gid®

(1 44 2y B8

(3 o6 4 22

A senueefr B-an sCsrgoren whpb
C eauwi D -en sGarsfi wpHmd
B erénusutt C -én waser srafld, C aremy
et A-&E, eronen el 7

(n
{2
(3)
(4)

= TN
Bybunm
slargrenalsrafidien wadn
sBargrdn/ sGenafiar wam

+ GELEg - aauh. — ddiLeg %
praraylh, X SEILIGNE + @EERD Wipd
+ saruens + aaayh Gardrrd
1Bx2+T<4—3=

o]
]

19 (2 20

22 o) 24
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B, A person is driving lowards West What
soxquence of direction should he follow so that
now he is driving towards South ?

(1)  Left. Right, Right
(3} Laoft, Loft. Left
(i)  Right Left, Right

89, Amange the following words in a meaningful

g_

Vegetable

Eating

Culting i
CAEDE Y mégn

ACBDE (4) BCDEA

P one >

R JC

90. Arrange the ln"ﬂ*hﬂf'%‘ as per
dictionary,

L, '.

g n & @

'I,“ CEABD & ﬁnﬂbﬁ
@'_ﬂ-ﬁnﬂ (4) EDCBA

www.TrbTnpsc.com

gt Giods Sesr Coasd QsdBpni.
dlammmb ahs spidl wend @l
e pfanmis e O fve Cpnsd
Cedoauntt 7

) g seg g
) sm, wag. wog
® fes Bs G
(4} ewwg Bos. sog

. St wrtpmssan Gunsaiis

aiflenstiiBane

Market

Eating,

Cutting

(1) CAEDB {2) CAEBD
{3 ACBDE {(4) BCDEA

- T T =

. Qemamb airfgepsme g

sl anfimeuid: wilasiufiys
A, Fute
B Feich
C. Fresh
D, Force
E

(1} CEABD (2} ABCDE
@ BEADC (4) EDCBA
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81, If the day after yasterday will be Saturday,
when will Thursday ba 7

1) Yesterday
2) Tomommow
(3} Day after tomormone

@ Dy before yosterday

92.  Find the correct mirror image of :

ESTRBK3|
@ ENaATa3 () ENS¥LS3
{3 EfLHEK3I (i) EMaRTE3
Direction (). No. 93, )
Find thie oded ome out >
% {'_‘II —=| X T l, 2|
. i l<le][e]X][=]*

S K| P | 5
@ o

95, Which of the follawing words cannat be
formed from the letters of the word
INTERNATIONAL" ?

v

#

1) NATION (2)

@ NATURE (4)

IX-24

LATTE
INTERNAL

91, Cpperpu wpupren saflidgeno crafld,
dluimpdlgeno TLGLINE SiHD ?

(1) Cepp

{3) prene

(3)  pesen oppTE

(4) Cpheopws gpanflesd
92, ESTREK3|
aEnpen samasmg Slibuib -
(1) exaATa3 (B EXsHLS3
3 Eeldekz (4) EXBRT23

siflgpen [, ereler. 93, 04)
Gaupule ganmps sdmn_fs

¥loll=Ix{1t1L1]|—=l©
8B vl l=lo][o]X]|[|=|X
m @ B @

“ |

(1

Y|

95, (Geregraiamabpien TS eSS S
“INTERNATIONAL® el ﬂl*ﬁ_rp
Gggarar TP H E@TE Garan B
o malfEs perg ?
{1} NATION 2

(3

Lot

LATTE

NATURE (4) INTERNAL
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96, Which two faces lie opposite lo each other, if
the given paper i folded 10 form a cube 7

o

DIE|

B
F |

Pligsas

Direction ((J, No. 97, 95)

Salect the

(@) CandD

(4) FandE

related figure from the given
afternativis :

X

@

o T
A tL\'D - Je| 2
o
T = o)
o o =
+ =
] @

www.TrbTnpsc.com

9. Wsr@Esliuc e s saiksgin
auy. il g & mth BLirg s
Bowsisd s Swwub 7

Al
D

£

B
[F |
(1) Awppd B () Cuopgd D
(%) CuppbE (4) FuopgbdE

afipep : (& eoar. 97, 9)

FEr Gasl ol Hearar WersiGnm

A NIAE
QILIX

(1) e 3 i)
(] ® +
98 ﬂh = D HY — T
= A 9]
+ = (o] Q
o @] = +

ﬂll @ & (4)

PT.O.
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1040,

Number of triangles in the given figure is

AN

) 7 @ 9
(1l @ i3
1f Sed =1, 4+3 =144 then RS =7

{1y 121 1y 133

90 4) 3825

=an-

IX-24

10,

www.TrbTnpsc.com

(s Rk sCiLnl sy
apis Gamanid & ofldn

AN

n 7 @ 9
@ 1 @) 13

UL Hgidan

o T et &

Seq=400 WDEL -3 =144 oofle 65=7

n 12 (2)
{3 900 (4) 3825

1331

~olo-
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